


11.

12.

13.

14.

15.

~ What is E-filing? _ , \

Bleengml ST&EE6 Tenped eremen?
Who is non-resident?

uflGsrgeur - eTanUeu u_lrrrr'?

PART B — (B xb= 25 marks)

Answer any FIVE gquestions.
\ L : '

Sﬁecify the tax-rate applicable to an individual for the
AY 2017-18.

Qe

afleSidliy sam(2017-18 gaflplimés ﬁ]u@mrra;uu@gsg,uu@m
aufleigid uph GOLIADS.

Ms. Kamala gives the following information regarding her stay

in India to identify the residential status, It is the usual practice
to have a stay for a minimum of 250 days in each financial year
before 2011-12.

Financial year ' Stay in India (days)

2011-12 . 150

2012-13 T125

2013-14 50 T
2014-15 ' 200 vk

2015-16 145 -

2016-17 132

Am. swer, gren @bHureld shHEGDHS SPsaETL. SHULSMET SHSI
saigl G@uioply fHlooewu sarpu  Casrgdprt. Bl e
2011- 12&;@' (perL] @@an(@ UL P GoDHSS 250 ;_5rrLa;mﬁ@ug,1
@pHureia SRANBLILS SIeITE UPESLTELD. .

- B parhser  @ndllimefle shi@se (Bmgafld)

2011-12 150

201213 125
2013-14 50

. 2014-15 200

2015:16 " 145

-2016-17 132

Explain the term ‘Perquisites’ U/S 17 (2) of the %ncome tax act.
aiporear eufld slLidb Gfley 17 (2) e & ‘Codeumomand’ eremm
ugSSen clleTssENS Sifeyb.
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Calculate tax liability from the followirg information given by

My. Anbu. He was receiving a salary of Rs. 8,000 per month,

apart from conveyance allowance of Rs: 300 per month:
(Rs. 150 p.m. actually:spent).

He had an house whose GAYV is Rs. 1,50,000. Municipal tax

- Rs. 3,000 out of which Rs 1,500 is paid by the tenant.

' HIS income from busmess is Rs. 4,50,000

He has contributed: Rs: 40,000 to PPF

' He paid Rs. 5,000 toward medical insurance premium

Hm. e shglieTem a%vc_rpssssam_ 55@61)85@5’16&@‘[5@ auf @urrgjuqassmm
Scmrre},aﬁme : :

Curra;@euug,guuutq . 300 (1h Lorraf,g,glm@ &Gmsmwu_:rra; Glaevalflsea

5. 150 @ WTFHEDE) GO FbLenDTs 6. 8 000 et wrssdlhis
@ug)]a%]mrrrr

SumES 650 2.aTeTg FE CoTSs écbarm@ oy ep. 1, 50 OOO
2 GD ‘
‘rf,asurn_éﬂ auf @ 3,000 2|dlev 5. 1,500 QJrFLm&;g,fri;rr’r &L Iq W GTGTIT
eflwmumy Gﬁ@mmﬂ[o e5. 4,50,000

@i Qurg GCswope Mg . 40,000 Lkiseiiy Qewigerarmr
IWGEENRNL: $F_ff4|5® pemarold . 5,000 Q&Q]gguuLL@. '
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23. From the following P/L ale, calculate income from Business of

Mr. Chinna.
Rs.
To General expenses ' 40,000 By Gross profit
. To Advertisement 16,000 By Short term capital
: gains
~ To Bad debts 12,000 By Long term capital
gains
To Repairs - 8,000 By Sundry income
. To Patent right acquired, © 14,000 By B.ad‘debts
during 1997 recovered
To copy rights during 2016 12,000 disallowed earlier
To other expenses 50,000
To Net profit : 10,06,000
~ 11,58,000

Rs.
4,44,000
2,40,000

60,000

4,00,000

14,000

11,58,000

(a) Rs. 4, 000 of repair expeﬁses 18 capital return.

(b) Rs. 50 000 spent on other expenses relates to 1ncome

"recewed form investments

(e Advertisement was paid in cash.

é‘ilc.pa;mm @emu <I1")L_I_85 a;ewra;aﬂc?&@pg Am. Aenenmellen afﬂqururrU

m@mrremg,mg,a; &&T(HLY1q &6y Lb.
‘ . -
OQungé Qseweyser’ 40,000 Gorgs Qeorub 4,44,000 *
eSlembLigib 16, 000 GDEW sTe apeger | 2,40,000
@eruw . ' 4

QUITTMTE L6 12,000 par sre apogen @eruid 60,000
LWSILIMEEeD 8,000 @&y umrenitseT 4,00,000
sriyfleno QuDHs : 14,000 -eumyé sLen QupILILL g
1997 eyariq e
udliiyfenis Qupps 12,000 (qapemy 14,000
201615 y,eforiq 0 <igwdssiuadme)
whm QFeveiser 50,000
Blar @eruw 10,06,000

11,58,000 11,58,000

(1), LaLTTssaiean Gewesar m. 4, OOO ApOET QAEDSE SIS

() wop Qowas@rsans Qswaifdss @m. 30,000 s Emps)
- Qupp auELTETESIEE, Glgrn_rrqml_u_lg,rr@m

(Q) eflembuné Gseway Qrrésinne GegissiLL L g|.
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16. Mr. Raj is getting a pension of Rs. 2,000 p.m. from a company.
During the previous year he got, his 2/3rd pension commuted and
received Rs. 1,23,000. Compute the exempted amount if (a) he
also receives gratuity (b) he does not receives gratuity.

S®.  TTH  eramueul . SeanEL L rﬂgjmgﬁaﬂ@m@ QUQLELiLNs

wresSDE 5. 2,000 Qupdpri. Qeemm ea,amnorev gy @uiapdu

uarsde 2/3 ukiams QLorrg,gs LDrrg)ﬁur& e5. 1,23,000 215 LrH

ng)gna; QsrairLnit. @uigLdlu Qsransi9anar sambELayb.

(@) et afsglul L umistasrammu Gsorsg QupmsQsTeT@nid
(W73

(@cb) Sleuit uenflabareaLmw Quprs L s58d.

1% From the following, calculate gross annual value, assummg that _

there is not Vacant perlod :
Particulars: House I House IT
MRV 1,05,000 1,05,000
FRV 1,07,000 1,07,000
SR 1,35,000 1,35,000
Actual rent ] 1,12,000 98,000
Period inthe PY 12 fnopths 12 months

spésam_aup Nl mbs Qorés <pam@: Loﬁll_"lcmués éséwré;é;’lr_‘_me.
. (smellunen srb Qdma aratamss Qs_rrdymme)
eeumiger . e I ORI
BT aurLas Ly 1,05,000 1,05,000
Hwmu auirL s oy ’ | 1,07,000 1;07,000
Blenaowires eumL_ens; 1,35,000 1,35,000
2_GWTENLOWITET 6U LGN ‘ 1,12 000 '98,000

Phasw 6@

12.|,.Drr§,réja;d'r

12 mng@a‘;df

18. State any five losses which are allowed as business losses.

eSlwimLmy BU L RIG6TTa SiodEaE LD FCseb PHgi ELLmJasmm

GGG s.
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19.

21.

Calculate the tax hab111ty of Mrs: Momca (82 years of age) for
the assessment year 2017-18 from the particulars given below.

(a) Income from salary Rs. 8,00, 000

(b) Income from house property Rs 1 70, 000

(c) Income from business Rs. 1,00, 000

(d) Donation to national defence fund Rs 10,000.

&G Qar@asiuc Gerer - ga;msua;oﬂm g 2017-18 mrﬂmﬁlﬁuq
angh@  dmwd.  Cuorefllsr (82 Guu_@]) Siadfisefler  eul

Qurrgjuqa;mm a;m‘rs;eﬂnmm
(1) sbueTh ppaLoTs Gu@u)rrsmo (. 8 00,000
(<p) eSU G Qerggi eu(mLomeLd @.1,70,000
(@) efwnumy eumwrand . 1,00,000
(m)  Csdlw ungemiy P& pean@srenL ¢p. 10, 000

l PART C—@B8x10= 30 marks)

Answer any THREE 'questlons.

Explain the features of income of the Income Tax Act.
aumLTaT euiflg gﬁpgﬁetr @@mnmgﬁm éﬂ’[_DL'JI._| @ueyseer efeul.
Caleulate income from saIaly of Mr., RaJesh a director employee
of HD Ltd. Bilaspur.
Basic Salary Rs. 40,000 p.m.:
Dearness allowance Rs. 12,000 (not forming part)
Bonus RS. 50:,000 pm. :
HRA Rs. 8,000 p.m. (Rent paid nil)

Both the employer and employee _contribute 14% of salary
towards RPF. The employee was provided with an Ambassador
car (1800 CC) for his personal and official use along with a
driver and the employer meets expenses. The employer pays
Rs, 2,000 professional tax and Rs: 3000 insurance premium of
Mr. Rajesh spouse.” - .

8. rGxmely (esnflwit-@us@nr H.D. e Qerevyf) eerueufen
FLOLIGT GU(HOTETSENS SHERTSEIL6LD. - ‘)

SAg LILIenL_& FDLIGTLD €. 40,000 ¢(m LTESS DG
&Soﬁ]mwu‘un @ 12,000 R(H LTESSDE, &Loumgﬁsu éu__rma;ng,gj)
GoandluIb (é 50 000 g wIEsSHE
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22,

aiL® eurLeslili o5 8,000 @@ wrssHnE (urLms Csgisdug
5 o) | | o] '
gLasged - 14% Lianfl é{GfﬂI:II_IQJ@lb pHmD  oarnfluimn
@{rm&a;rﬂesasuuu_ Gsope HsE utisally Gsigant. emfumses
<ibureL i eariig) (1800 CC) gl GppLdn Si@iaies 2 LCLTEsADHED
LOHHILD S QEmps 2 LCWTESSHDED  euPEEILLL . ASHEGML

- Geajsaman  Lianf) sefliuaT Fhns Qsrarimr. uef <eflluer
- Agmfeveufl . 2,000 sigujetermi WHHID Un@ga&ﬂm mmmaﬁ]a;@

&;m.uﬂ@ (penanioLd (. 3 000 QegisSwerarmi.

Mr. Sr1n1vasan owns a house, wh1ch consists of two equal
1ndependent units. One is let-out and the other i is self-occupied .
The let out portion is also self-occupied for two months The
other particulars are as follows :

FRV RS. 24,000

MRV Rs. 12,500

Actual rent for the let-out portion Rs. /1;000 per month
Local tax Rs. 2,500 :

Ground rent Rs. 300

Interest on loan taken for construction Rs. 2, 500
Determine Income from house property.

Sm.ubbleurser ’GTGISTU'G}J'@éS@ il e dteng g @aw® sflgwwomear
Gfleysarms R&sLLL Hatarg. @@ ey aur_aas@h, Gen@anmm

Giiley G]&rr‘lbg, 2 LCWT&EsSDELTS 2 6rengl. auT s e, 2 LIssSDE

G&n@g o LCWrESADSTE LLieaTLHSsLLL Heters). LHD éﬂeur,rrm&m

&G sriLL_HeTerg

Buwmu eur_ens iy . 24,000 -

BETTLE euif_ens ALY 5. 12,500 -

2_GHTELD @Jrn_ems (@Jm_ma;&@mu_u Lﬁliﬂma;@) ¢5. 1,000 e wrasHn e
am@rr eufl ¢m. 2 500

Bl aumens; (5. 300

@S’@ asl_@\mgag)a;rra; sLan eurbdlandlen eul_iq ep. 2,500

S0 Qensa eusoTRISMSS Sa (9 &sa]|Db.

5 60139/BVZ5A/BPF5C/
BVC5A/BPG5C



